Mgmt 380









#3
Assignment #2
20 points

DUE:  September 9
You may work in teams of two on this assignment.
Cakery Bakery bakes and distributes two kinds of cakes (chocolate and carrot) on a daily basis to a variety of stores.  The profit on each chocolate cake is $2.30 and on each carrot cake is $2.25.  Each chocolate cake costs $0.50 to make and carrot cake costs $0.75 to make.  The bakery has a daily budget of $2000.  There is enough space to distribute no more than 3000 cakes each day.  Customer demand requires Cakery to distribute at least 1000 chocolate cakes and 1200 carrot cakes each day.  The bakery wants to determine the number of each type of cake it should bake and distribute each day in order to maximize profit.

Define the problem.  

What is the goal (the problem statement or question)?  What are the decision variables?  

Build a model.

In this case, you will build a linear programming model.  What is the objective function?  What are the constraints?

Solve the model.

In this case, you will use the two methods to solve the model:  (1) graph, (2) STORM software
Submit the following, stapled in order:

a)  cover page (see handout #1, page 3 for a list of the items that must be on the cover page)
b)  Executive summary (report to the client):  memo to the client to explain your findings (see handout #1, page 4 for a list of what this memo must contain)
c)  the problem definition 
d)  the decision variables and linear programming model
e)  the graph

f)  the STORM printout
Note:  As with all assignments, this one must be presented in a professional manner, typed, spell-checked, and grammar-checked.  See handout #1, pages 3 and 4 for more information.

